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W55 keal/h) 604,800 120,960 60,480
= 2 1 2
4 Cop 40 4.0 2.4
= 328 TR | TreaterEE W7
3a7] 4 4 34
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g = (He ) 5l 7 7123 x 8] g x 222}
= (7,811+11,373+9,645) X 0,31 X (288-187)
= 902,636(kcal/h)
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-Eog g TSN
oy L3N 288@} el 187C
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9,645Nm’/h

P55 = Jekeal/h X COP-+3024keal/RTh

=902,636x0.7+3024
209 RT = 200RT

et 7| At

« ARk7|E

-AE FAYE7) ¥ s 200RT, COP 0.7

Ciit 1558 FEs7| A=)

-7129%7] A% Turbo'd57] COP 3.5
Chiller COP 2.4
EAREYE71 COP 2.4

-5k 1 8H7] 100%

F27) 0%
547 50%
- A7l

~5F4 7187 = 200RT % 3,024keal/RTh X 1.0

= 604,800keal/h

(40RT+20RT) x 8,024keal/RTh X 0.7
=197,008keal/h

—527) A7 = 20RT X 3,024keal/RTh X 0.5
= 30,240keal/h

S 1ELF

1

= A7eHcal/h+ (860keal/kWh X COP) X 7HE-A17H

= (604,800 860 3.5 X 24h x 30d X 3m) +
(127.008+860 2,4 X 24h X 30d X 6m) +
30,240+ 8602, 4 X 24h X 30d X 3m)

= 434,000+265,830+31,646

= 731,476 (kWh/$)

- Ao

= 7P kwh/ A X 608/kWh

= 731,476 X 60
= 43,889 (A /)
« Ex}H] = 130,000 (1)
_ 130,000
o B = s
s 43,889
=3.0()
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QN GSHIA A 605 WA|A]
30W x 605 % 0,8=1.44(kW/h)
@G G (HFANIBWE 1A
(B0W-18W) X 505 = 0.6(kW/h)
(OH2HB)x 7,310 /y) % 0.35
=74,298(kWh/y)
@F=S 3AX o= WA
20W x8,640(h/y) = 172 (kWh/y)

o A7kerstA © 74,298 +172=74,470Wh/y)

« A3 74 A70Wh/y) X 60($/kWh)
=4, 468(3%)

« B2 1 30,0000

e A= 717F 6.7

% 7]2 1 2000 2= 15,196 MWh/4, 7F5A17E7,810h

HEEus IErSHE Y2 LS EXx|slTI7t | foEHEzR
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(%) fwh/d) eskalla) &) () )
PR Ade| A=A o)A 6,576 7,000 11 106.0
=) Aeug| 0.86 130,000 7,800 90,000 2.6 178
YA 0.51 77,818 4,670 3,000 0.6 © 106
0;71] E&gest 0.55 83,800 5,028 5,000 10 15
F7IA - - - - - -
ws) FrA T IAE 483 731,476 43,889 130,000 30 100.0
Treater 2-4 Chiller 0.24 36,988 2,177 500 02 19.6
P-3&grarid 0.78 118,422 7,105 4,500 0.7 16.2
—_ P48k 2R 1.34 902,633 12,157 7,000 0.6 27
P32 A4 1.34 20,103 1,200 2,000 17 2.8
EREXR e ] 0.60 91,800 5,508 3,000 06 12.5
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7|er4de] - - - - - - -
A 1035 1,566,810 100,578 219,000 21 3219
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